EARAROBEEIERT — 2 N— IBISH —F

2014548268 (+) 3E=H1H

Ml v>%3% 500FF (

B .A
Z=)

)

[($57E] Fikb

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[AE4£] 1% :7,200,000 @ ~ 23 :2,900,000H ~ 33&:

1,800,000 H . 4 & :1,100,000 H 5 & :720,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
11712| 77K =>4 # o3 | RS 10 mJars| T | e | o0 | M €2
RYZAZ—IZZE— BiAYINH— (-2) s
AT LTy SRR #H 3 ;i'fé%ﬁ: 1(7255? 9-6 36.7| 93.0 | 10 tg? E;ggg; (E®)
RidxfavR—5— B:INLINYTyY R BR&EM 2TV InNL—
3l | ®@TA - v 2R i3 | ZEEE 1(725t> 33  |37.4] 920 1 | 58 ﬁég%ﬁgﬁ@i)
A :Exchange Rate ##:Hot Storm (+6) Robert A. Adams &
4 3 TLAITY R 4 3 ?6%55 (11215/23) 10-10  [36.9| 90.2 | 2 470 g%ggﬁi)
AL BT -2 RTYLY | Zigns
5 1 /A V7Y 3 E%l_a’gmﬁ (12215/27) 6-6 37.6| 86.5 | 7 502 Eégtﬁ (FE=R)
RHBTSNIY A BHLF—yFo O yreams
6lslg|Famosoy— # 3 gg*aﬁ— (11:23?/48 68 |37.9| 83.8 | 11 ﬁ?f) %gﬁg;‘;ﬁg%)
R:d—IRK7Ya—b B:7HHTT1v b ke
717l1s| #opa 3 Zﬁ%i—ﬂﬁ 1(72?:5) 5-3 38.1| 836 | 5 464 ;Iaggéi (FEH)
QUXTATINES BiL—HA KTt ) x> —
8l1l1|7/XHn # 3 EL:E%(; (,33? 15-15 | 36.5|83.8 | 3 | 48 gg;%é?i)
R:TSATLREA L BiE S0l 0| Zmss
olslg|®b—sE—t # 3 | E ~Kay (1729670) 2-2 | 384|837 4 :112) ”?(g'%df?y o
A:Street Cry B:YU—HILE— b Shadai Corporatio
g TULT it 3 é"l_%oﬁl 1(:12/62.>1 13-13 [ 36.9| 82.8 | 15 | 430 gfg%ﬁ@%)
QAL S ankIAY BiESamTRLF O | s
TIIAT = f 3 gfgﬁ (11:2% 12-11 | 375|801 | 9 | 442 ﬁamg (ER)
RiEATAT = B FA—X O a7 -u
@IS/ Y LR L # 3 %\%% 1<726t;t 68 |38.3]80.2 | 14 | 432 gﬁ#ﬁg (&%)
AN/ 793> BiYLEALL—%— (#2) [ELAIEIIES
# o3 | AVEX 126.4 1313 | 37.2] 80.1 | 12 | 488 |SHHE— (EXN)
TAHAYE YL - 56.0 () © |AREE
R:d—IWR7Ya—b B/ by TLTFa HET77— L
AW E VS # 3 %@T‘E 1:(27).4 33  |39.6| 727 | 8 | 478 @ﬁ%‘}_’% ®=R)
. 6 L JKF &
R:TITRATIRI BA—LIFYT 4 (-4) SRS
AEEN 1:28.0 1-11 39.2| 67.2 | 13 | 486 |%EME (ER)
®RH—F— 3 as e
: 31/2 JLEiFL—BR
LTUBARILE B/ IAE— G2 2 1T as
@ 21 L
£ 49.9-37.5
NA>ZA L | 12.3-11.1-11.7-12.4-12.6-12.4-12.5
® 1—F—@EBIERL
13—7F-
20—F—
Jo=5r= 12,9(6,7)13(8,10,11)15,3-4,2(5,14) -1
43—+ — (x12,9) (6,7,13) (11,15) (8,10)3-(4,2) (5,14)-1
[ N5
= 12 1,810 714K 12-15 4,310 e E 7-8 4,510 JEE 6-12-15 21,610
8 B 12 360 6-12 1,270/ B = 12-15 15,670M JEH 12-15-6 204,990H
15 680 6-15 1,980 B H 12-15 30,160
6 1509

ABICOVWTRDTEEERROODE. TR LIV,




